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PHASE 3 o e

Curiosity Confidence Courage Constancy

YEAR 5 Maths - Skill 1 Reasoning Answers

[I] Award TWO marks for three numbers correct as shown:

rmounded to the
nearest hundred

316 300
3162 3200
31628 31600
316281 316300

If the answer is incorrect, award ONE mark for two numbers correct

S]]

1070 — 1100
8225 — 8200
3680 — 3700

ANl cormrect for T mark.

¢ [

Award TWO marks for three correct numbers, as shown.

*

Total attendance,
Stadium Total attendance rounded to nearest
ten thousand
Dodger Stadium 3.703 312 3,700,000
Angel Stadium 3,016 142 3,020,000
Fenway Park 2,955 434 2,960,000

Award ONE mark for any two correct numbers.

E] 3.350.000
Accept an answer written in wovds.

3.4495 999
Accept an answer written in wovds.

Al three numbers correct or any two cormrect

S Rounded to Rounded to
nearest 1000 nearest 100 000

385 704 386 000 400 000

209 601 810 000 800 000




PHASE 3 sampton vale (G5

YEAR 5 Maths - Skill 2 Answers

1) Round these to the nearest whole number:
)77 8.0 d)784 7y c
b)0.6 |.C )35 (. 0O
0109 || O fle3l ¢ 0

)6 b) 81 c)12 )23 )9 ’
D) =6-¢  H0.57-91.4 22,5254

)9%- %7 80 (579 (575) (984
06 - 66 65 (62) (56
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YEAR 5 Maths - Skill 2 Answers

4) Round these to the nearest whole number:
a)355 4.0 d) 5757 53. O
b)3.49 3 7 e)39.61 L. O
c)7.82 8.0 f)354.76 3557

5) Ci

043 - 4378 (@3.12) (43.11) @33) @

b)12 -\ 1213 ) (11. 51 11 49 1251 1265
c) 685 - 685.99 685 49 684.12 ( 685.13

CHALLENGE!

a)8378 5 ()  d)192435 [92.C
b) 9227192 .0 )4902555 49077 (.

€)392555 7 () 2020671 250 (5
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fidence Courage Constancy

YEAR 5 Maths - Skill 2 Reasoning Answers

. . o. ‘ ‘ .
2.9% Soo-289.499

h)33- 500 -37.44
Q) 22 b)89 )39  d)289 )89t

4) 21.500~22.499 ()381.500-390.659 €) §90. 50099/, 45
2) Who Am I?

I am less than 10. I am 10 rounded to the nearest whole. My
tenths digit is odd. I have no hundredths digit.

Who am I? Circle the answer,

783 103 1012 (99 87

3) Who Am I?

I am larger than 6. To my nearest whole, I round down not up.
One of my digits is odd, but my tenths digit is even.

Who am I? Circle the answer.,

528 86 (7.24 837 785
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Hampton Vale
Primary Academy

YEAR 5 Maths - Skill 3 Answers

Round each number to the nearest tenth.

1)
2)
3)
43

o)

1)
2)
3)

43

8.89 _8.9 6)
599 B9 7)
243 24 8)
767 _1.7 9)
749 75 10)
Round each number to the nearest tenth.
8.676 _8.7 6)
4197 _4.2 7)
3.245 3.2 8)
5826 _5.8 9)
7523 75 10)

5)

5.48

2.26

9.17

2.78

7.64

8.497

5.769

3.519

9.831

4.746

5.5

2.3
9.2

2.8

8.5

5.8

3.5

4.7




PHASE 3

Round each number to the nearest hundredth.

1)
2)
3)
4)

5)

Round each number to the nearest hundredth.

1)
2)
3)
4)

S5)

Hampton Vale
Primary Academy

YEAR 5 Maths - Skill 3 Answers

9.162

8.482

1.412

6.951

2.578 _2.58

9.9611

5.8249

8.1481

2.7578

5.1642

_9.16

_8.48

1.41

6.95

9.96
582

8.15

2.76

5.16

6)
7)
8)
9)

10)

6)
7)
8)
9)

10)

2.972

2.355

2.793

8.892

6.356

5.6285

9.8645

5.7419

1.4276

5.1931

2.97
2.36
2.79

8.89

6.36

9.86

_5.74

5.19
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YEAR 5 Maths - Skill 3 Reasoning Answers

CHALLENGE A

| am less than 10.

| am 10 rounded to the nearest whole.
My tenths digit is odd.

| have no hundredths digit.

Who am I?

7.83 10.3 | 8.7 9.51
10.27 29 { 983 10.12

CHALLENGE B

e | am larger than 6.
e To the nearest whole, | round down not up.
e My ones digit is odd, but my tenths digit is even.

Who am I?
5.28 984 | 837 | 7.85
7.24 T 3.8
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YEAR 5 Maths - Arithmetic Answers

42

nlw

650

28 rem 2 or equivalent

eg. 28-:2;

16
56

0.068

16,592

0

1

1

0]

1

1

1

1]

1

1

1

1

1

1

1

1

1

1

27.

28.

18,195 (11
20% 1
14.07 [11
18,000 ()]
;%% ()]
45 [11
5,800 ()]
For 2 marks: 23,066 [2]

Award only 1 mark if there is

either one error in the multiplication
steps, then added correctly,

or no error in the muitiplication steps
but an evror in the addition step.

13.05 11
3
-l 1
10 1
7 :
7-8- or equivalent 1
eg 2:?-
el
Do not accept unconventional
notation for mixed numbers
eg 6E
.g. 3
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Curiosity Confidence Courage Constancy

YEAR 5 Reading - Text 1 Answers

question answer marks notes

28. | Why does the Wind want to blow out the Moon?

Award 1 mark for answers that Content domain: 2b — retrieve and record information
refer to the Wind hating to be ] /identify key details from fiction and non-fiction.
watched, and that the Wind

dislikes the Moon's stare. Award 1 mark for the correct answer.

29. | In Verse 1, how is the Wind feeling?

Content domain: 2d — make inferences from the text/

Award 1 mark for answers that explain and justify inferences with evidence from the

refer to the Wind being annoyed / 1 text.

angry/upset or frustrated. Award 1 mark for reference to the annoyance that the
Wind is feeling.

30. | In Verse 2, what do the words ‘slumbered’ and ‘muttered low’ tell you about the Wind?

Content domain: 2a - give /explain the meaning of

Award 2 marks for reference to :

both the Wind being calmer/ less Words I contexct.

powerful and quieter. 2 Award 1 mark for each of the points up to @ maximum

Award 1 mark for reference to of 2 marks.

either the Wind being calmer /less < ’

powerful or quieter. Dlo not accept any reference to the Wind going to
sleep.

Said the Wind: "What a marvel of power am |l

With my breath

Good faithl

31. | | blew her to death-

First blew her away right out of the sky-

Then blew her in; what strength have II”

What does this verse tell us about the Wind's character?

It tells us that the Wind is very
arrogant and believes itself to
be much stronger that the Moon.
It also tells us that the Wind is

ignorant and doesn't understand Content domain: 2d - make inferences from the text/
that the Moon is actually just going explain and justify inferences with evidence from the

through its natural phases. text.

Award 2 marks for reference to 4 Award 1 mark for each of the points up to a maximum
both the Wind being arrogant and of 2 marks.

ignorant.

Award 1 mark for reference to
the Wind being either arrogant or
ignorant.
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Curiosity Confidence Courage Constancy

YEAR 5 Reading - Text 1 Answers

‘Like a ghost in a chair,’, "With her one ghost eye,’, ‘A matchless, wonderful silvery light,’, *With her

one white eye,’

= What is the effect of these descriptions of the Moon?
It gives the impression that the
Moon is an unearthly and unique
object.
It tells us that she is bright/ Content domain 2g: identify /explain how meaning is
white. enhanced through choice of words and phrases.
Award 2 marks for reference to 2 Award 1 mark for each of the points up to a maximum
both the Moon being unearthly of 2 marks.
and bright /white.
Award 1 mark for reference to
the Moon being either unearthly
or bright /white.
33. | Find and copy a word or phrase that shows that the Wind is a fiery, unpredictable character.
Possible answers: & Soinaio b ) d 4
- 3 ontent domain: 2b — retrieve and recor
Hihletlapeg da:d ?allooed 3 information/identify key details from fiction and non-
N ] fiction.
5 H'e flew i arage Award 1 mark for any acceptable answer.
¢ Like a merry-mad clown
34 How does the Moon react to the Wind's efforts to ‘blow her out’? Find evidence in the text to

support your idea.

The Moon is oblivious /unaware
of the efforts of the Wind to
‘blow her out’. In the final verse,
it says that she ‘knew nothing
of the affair’ meaning that she
hadn’t realised what the Wind
was trying to do all this time.

Award 2 marks for an answer
referring to the Moon being
oblivious /unaware of the Wind's
efforts backed up by evidence
from the text.

Content Domain: 2¢ - summarise main ideas from
more than one paragraph.

Award 2 marks for an answer with appropriate
justification from the text.

Total 1
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Curiosity Confidence Courage Constancy

YEAR 5 Reading - Text 2 Answers

Answers

1. What gases is the Sun mainly made from?

Hydrogen and helium

2. How long does it take energy to reach Earth from the Sun?

8 minutes

3. How far away is the Sun from Earth?

149.6 million km
4. What type of star is the Sun now?
A yellow dwarf

5. List the 4 layers of the Sun from the centre to the outside.

Core, radiative zone, convection zone, the photosphere.

6. What keeps our solar system of planets orbiting the Sun?

The Sun's gravity

7. Solar means ‘relating to the Sun’. Think of another example where we use the word ‘solar’.

An? including: solar panels, solar energy, solar power, solar eclipse, solarium, solar
cell, solar year

8. Will the Sun last forever? If not, why not?

No. It will use all its energy eventually.

9. Why has the author used an exclamation mark in this sentence to show surprise?
‘It takes about 170,000 years for the energy to move from the core to the

convection zone!’

Discuss around: 170,000 years is probably much longer than you would guess it would
take for energy to move from the core to the next layer.
10. Look at the final line - where do you think humans will be by then?

Open ended for discussion.
There's every possibility we may be in other solar systems or galaxies by then.
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YEAR 5 Spelling Rule Answers

Stage: 5

List: 11

Words ending in ‘-ably’ and -ibly." The "-able’ ending is usually but not always used if a
complete root word can be heard before it. 'y’ endings comply with previously learned rules
and is replaced with 'i" as in rely > reliably.

Answers:

(

pellingiShed

Put ¥°Ur s

Spellings

Pell
""'-‘hine tof 95:,:”""971 the

reliably

dependab

ly

comfortably

possibly

horribly

terribly

visioly

incredibly

sensibly

legibly

Root Word

) [ reliable

) | dependable

) | comfortable

b | possible

b [horrible

\ | terrible

visible

b [incredible

& | sensible

, [ legible
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YEAR 5 Grammar - Skill 2 Answers

1 Award 1 mark for

Hassan and | are going to our dance class; we are going to be late as we missed the bus.

2
We change places when the bell rings.
3 Award 1 mark for a correctly completed table.
after used as a
e e after used as a
Sentence subordinating —— y
p ’ preposition
conjunction
He moved here after the end v
of the war.
Entry is free after 5pm in v
the evening.
| went to the cinema after v
| had eaten my dinner.
4 Award 1 mark for the most suitable conjunction encircled.

because before and
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YEAR 5 Writing - Activity 1 Answers

formal informal

uses specific vocabulary
for the subject

uses the correct
grammar and
punctuation

has a more serious tone

often uses complex
sentence structures




